TIA—TU100FEIVIRFTTILA
2017-11-3(&)

gig: ]
A=
FBH-MI | WR-4a% | BFT-EE | B |[srs| x| E | B
FH-/MI 36 16 02 4 12| -8 3
LLIAR - #R s 63 26 11 8 9 -1 2
AT - =48 61 62 20 12 3 9 1
BU—Y
F-BFT | RE-EE | FA-RE | BR |[srs|xra| 2| B
=/ -HEr 36 26 02 5( 12| -7 3
& - FEH 63 60 20 12 3 9 1
FH-TE 62 06 11 6 8| -2 2
TR
HAT-=4E | WWR-4E | RME-EE | BB |srs|xrs| E | B
AT - =48 64 62 20 12 6 6 1
LLIAR - FR s 46 16 02 5{ 12| -7 3
& - FEH 26 61 11 8 7 1 2
T)—=4
EB-NMI | RE-TE | SN-EFF | B | es|x-s| E | OJER
FH-/MI 61 46 11 10 7 3 2
FH-&E 16 06 02 1 12 -1 3
=) -HEr 64 60 20 12 4 8 1
Z% HBFF-=SE8
#EH RE-HAEE

13:30FBA88 17:10487T




